
©  Playpower inc
hags@hags.com
www.hags.com

Rev: 3

01/08/2345077120

UniPlay Snaky

41 /

UniPlay Snaky

S

steel post

45077120



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 3

01/08/2345077120

UniPlay Snaky

42 /

0,0

1.
50

m

0.
42

m

200mm

28
0m

m
45

m
m

145mm



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 3

01/08/2345077120

UniPlay Snaky

43 /

kg

kg

kg

kg

kg

kg

kg

kg

kg

kg

kg

kg

x

x

x

x

x

x

x

x

x

x

x

x

1 33-05390 196x26x371 0.05

2 8008850 Washer, Bolt cap 11x24x2-
ISO4759-3-C4 0.006

3 32-05587 550x1500x1550mm1 13,3

4 SW53662 530x240mm2 5.37

5 8008451 Screw, ISO7380-1-M10x20-10.92 0.019

6 32-05395 231x42x557mm1 0.25

7 33-05371 620x121x21 mm1 2.18

8 8008754 Nut, DIN986-M10-82 0.015

9 8008472 Screw, ISO4762-M8x25-8.82 0.017

10 8050050 Washer ISO7089-10.5x20x22 0.004

11 8008371 Screw, ISO4017-M10x25-8.82 0.0263

12 8008815 Nut, cage M10-t=1.8-3.22 0.005

X

S20

2 0.5



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 3

01/08/2345077120

UniPlay Snaky

44 /

x4
25

x2

x2
4

8
x2

MA420994

mm

S10

Ø11

1

6

3 9
x2

x2
12

7

x2
10

x2
11


